FLIRE 12 %

5 S AL ) &=

TRHAFERBABH RN R AEREERISFMETHR (B4 5) o0 T

R S G R RBRE OMEEF IV, TRITELZT2LENH Y . FHE TS ERAELET 20T, #7 HIRIER 179
KB T HOBUEIZ LD A0 4 F 8RR Sl R RIS HIE TR (5 4 %) 2o & B0 RS 5,

S fm 5 4 3 H 31 H
BRI E AR B



TMAFERABH RN mmEERFERIZFMETRE (H 4 5)

T4 EERABIT OB G A EREERSFHIE TR (B45) 13, RICEDD ETAITLD,

(A TR OMIE)

F15 BARETEORENOBAREZILEI 2,934 THEZEEZE L., MARH TEOREEZ S AR L Z L 192, 824
THET S,

2 AT EOMIEDORED X4 KUY X 4y DK N IER#R O AR TROSKT., T 1£ AR

FHEME] 12X 5,



% 1 * % A % tH ¥ B i iE
A (Bifr - TF)
= e i OOE AT @ #E i IE % Bl
1% # & i & BEE R B OK 114, 580 483 115, 063
1% W& i & BEE KR BRH 114, 580 483 115, 063
4 f% ' A & 78, 314 A3, 417 74, 897
1— & = 5 & A & 78, 314 A3, 417 74, 897
53 A =) &t 195, 758 A2, 934 192, 824
% (Bifz - FM)
= T i OOE AT O %8 W OFE #E =t
2 BSNS54 180, 604 A2,934 177, 670
1 Pl 25 B [ 43 A A 180, 604 A2,934 177, 670
53 tH = #t 195, 758 A2,934 192, 824




1 % B A & B M Ok ¥ B F H O B M =E
A (BfL : FH)
X ¥ IE B @ % W O1E %A &t
1 % B 5 B % E FE & B OB 114, 580 483 115, 063
4 H A 4= 78, 314 A3, 417 74, 897
7% A = =t 195, 758 A2, 934 192, 824
. (BT - FM)
ME B o M O JFE A 3R
K FIIERT D BR| M E A 2t BooE MR ‘
R W H |2 o | R
2 B S EEREILNRES NN S 180, 604 A2, 934 177, 870 A2, 934
% H =) &t 195, 758 A2, 934 192, 824 A2,934




2w A

&) 1 REREEERBREE (FB) 1 BHEm A ERERERE (EAT - FH)
. X - i 5
B WIERTOAE # IE 48 &t x y—— B
1 R BRI OR Bkt 80, 057 AT, 440 72,617 | 1 BFEED AT, 440 | REED AT, 440
2 B BN R R 34,523 7,923 42,446 | 1 HEESD 7,923 | HEE D 7,923
Ft 114, 580 483 115, 063
F 48BAE (FH) 1 —R&EFHEBRAS
2 (R FEMBEERA 66, 004 A3, 417 62,587 | 1 {RBRIMBEERA A3, 417 | REEEBLERAE A3, 417
% &
B 78, 314 A3, 417 74, 897
3 @
&) 2 RIS HEERELEE SN & (FR) 1 RS-SRS A A 4 . (Efr : M)
W OE %8 o M B A R i
H WIERTOKE| 4 IE %A &t ¥ OE M R . X 5 s & B; 2]
_‘ru R X N p ]
ERXHE| H H & | 2 0 . 7
1= b 180, 604 A2, 934 177, 670 A2,934 |18 4B 4, #BY| A2 934 | BIIEEEERELEE S MHATS (
FHEFEIL A & PR B 2= R Bk 483
A BHIE®EERLNRESHTS (
fF4 PRI EAR S E o 4) A3, 417
=t 180, 604 A2,934| 177,670 A2,934

IR b R SRR =




